
<po>
<m k="statusTittle" v="Device Status"/>
<m k="statistics" v="Statistics"/>
<m k="totalGen" v="Total generated"/>
<m k="totalRunTime" v="Total Running Time"/>
<m k="todayGen" v="Today generated"/>
<m k="todayRunTime" v="Today Running Time"/>
<m k="DCinput" v="DC Input"/>
<m k="PV1vol" v="PV1 Voltage"/>
<m k="PV1cur" v="PV1 Current"/>
<m k="PV2vol" v="PV2 Voltage"/>
<m k="PV2cur" v="PV2 Current"/>
<m k="PV3vol" v="PV3 Voltage"/>
<m k="PV3cur" v="PV3 Current"/>
<m k="PV1StrCurr1" v="PV1 StrCurr1"/>
<m k="PV1StrCurr2" v="PV1 StrCurr2"/>
<m k="PV1StrCurr3" v="PV1 StrCurr3"/>
<m k="PV1StrCurr4" v="PV1 StrCurr4"/>
<m k="PV2StrCurr1" v="PV2 StrCurr1"/>
<m k="PV2StrCurr2" v="PV2 StrCurr2"/>
<m k="PV2StrCurr3" v="PV2 StrCurr3"/>
<m k="PV2StrCurr4" v="PV2 StrCurr4"/>
<m k="PV3StrCurr1" v="PV3 StrCurr1"/>
<m k="PV3StrCurr2" v="PV3 StrCurr2"/>
<m k="PV3StrCurr3" v="PV3 StrCurr3"/>
<m k="PV3StrCurr4" v="PV3 StrCurr4"/>
<m k="ACouput" v="AC Output"/>
<m k="gridConPwr" v="Grid-connected Power"/>
<m k="gridConFreq" v="Grid-connected Frequency"/>
<m k="line1vol" v="Line1 Voltage"/>
<m k="line2vol" v="Line2 Voltage"/>
<m k="line3vol" v="Line3 Voltage"/>
<m k="line1cur" v="Line1 Current"/>
<m k="line2cur" v="Line2 Current"/>
<m k="line3cur" v="Line3 Current"/>
<m k="devStatus" v="Other Status"/>
<m k="runState" v="Running State"/>
<m k="busvol" v="Bus Voltage"/>
<m k="devtemp" v="Device Temperature"/>
<m k="co2red" v="CO<sub>2</sub>emission reduction"/>
<m k="Statistchart" v="Statist chart"/>
<m k="chart1" v="Today"/>
<m k="chart2" v="This month"/>
<m k="chart3" v="This year"/>
<m k="chart4" v="Total"/>
<m k="cx1" v="Time"/>
<m k="cx2" v="Days"/>
<m k="cx3" v="Month"/>
<m k="cx4" v="Year"/>
<m k="kwh" v="kWh"/>
<m k="w" v="W"/>
<m k="m0" v="Not connect"/>
<m k="m1" v="Waiting"/>
<m k="m2" v="Normal"/>



<m k="m3" v="Error"/>
<m k="m4" v="Upgrading"/>
<m k="p0" v=""/>
<m k="p1" v="×10 "/>
<m k="p2" v="×100 "/>
<m k="p3" v="×1K "/>
<m k="p4" v="×10K "/>
<m k="p5" v="×100K "/>
<m k="p6" v="×1M "/>
<m k="p7" v="×10M "/>
<m k="p8" v="×100M "/>
<m k="p9" v="×1G "/>
<m k="u1" v="kWh"/>
<m k="u2" v="h"/>
<m k="u3" v="kWh"/>
<m k="u4" v="h"/>
<m k="u5" v="V"/>
<m k="u6" v="A"/>
<m k="u7" v="V"/>
<m k="u8" v="A"/>
<m k="u9" v="V"/>
<m k="u10" v="A"/>
<m k="u11" v="A"/>
<m k="u12" v="A"/>
<m k="u13" v="A"/>
<m k="u14" v="A"/>
<m k="u15" v="A"/>
<m k="u16" v="A"/>
<m k="u17" v="A"/>
<m k="u18" v="A"/>
<m k="u19" v="A"/>
<m k="u20" v="A"/>
<m k="u21" v="A"/>
<m k="u22" v="A"/>
<m k="u23" v="W"/>
<m k="u24" v="Hz"/>
<m k="u25" v="V"/>
<m k="u26" v="A"/>
<m k="u27" v="V"/>
<m k="u28" v="A"/>
<m k="u29" v="V"/>
<m k="u30" v="A"/>
<m k="u31" v="V"/>

℃<m k="u32" v=" "/>
<m k="u33" v="Kg"/>
<m k="mon0" v="Jan"/>
<m k="mon1" v="Feb"/>
<m k="mon2" v="Mar"/>
<m k="mon3" v="Apr"/>
<m k="mon4" v="May"/>
<m k="mon5" v="Jun"/>
<m k="mon6" v="Jul"/>
<m k="mon7" v="Aug"/>
<m k="mon8" v="Sep"/>



<m k="mon9" v="Oct"/>
<m k="mon10" v="Nov"/>
<m k="mon11" v="Dec"/>
</po>


